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QUESTION 1

IPS is primarily a -based engine.
A. Signature

B. Difference

C. Action

D. Anomaly

Correct Answer: A

QUESTION 2

Which of the following are valid Boolean search terms that can be used in custom SmartLog queries?
A. And, or, with

B. And, or, not

C. None, Boolean search terms cannot be used in SmartLog.

D. And, or, not, with

Correct Answer: B

QUESTION 3

IPS can assist in the discovery of unknown buffer overflow attacks without any pre-defined signatures.
A. False, only the Threat Emulator blade can discover unknown attacks.

B. True, if Zero-Day vulnerability is enabled.

C. False, IPS needs predefined signatures for all functions.

D. True, if Malicious Code Protector is enabled in IPS.

Correct Answer: D

QUESTION 4
The Threat Prevention software blade:
A. Is configured in one unified policy for Anti-Bot and Anti-virus functions and uses the same threat repository.

B. Can only be deployed as part of SensorNET.

Latest 156-727.77 Dumps | 156-727.77 PDF Dumps | 156-727.77 Exam Questions

2/3


https://www.geekcert.com/156-727-77.html
https://www.geekcert.com/156-727-77.html
https://www.geekcert.com/156-727-77.html

VCE & PDF https://lwww.geekcert.com/156-727-77.html
2024 Latest geekcert 156-727.77 PDF and VCE dumps Download

GeekCert.com

C. Is a free function that does not require additional licensing.
D. Can only be deployed on a Security Gateway running GAIA.

Correct Answer: A

QUESTION 5
Check Point\\'s IPS blade provides two pre-defined profiles. Which of the following definitions are correct?

A. Default_Protection: Provides excellent performance with a sufficient level of protection. Recommended_Protection:
Provides the best security with a sufficient level of performance

B. Default_Protection: Provides tracking only for troubleshooting purposes and evaluation prior to full implementation.
Recommended_Protection: Provides excellent performance with a sufficient level of protection.

C. Default_Protection: Provides the best security with a sufficient level of performance. Recommended_Protection:
Provides excellent performance with a sufficient level of protection.

D. Default_Protection: Is an uneditable profile that prevents all IPS related traffic. Recommended_Protection: Provides
excellent performance, flexibility to customize protections and actions, with a sufficient level of protection.

Correct Answer: A

Latest 156-727.77 Dumps 156-727.77 PDF Dumps 156-727.77 Exam Questions

Latest 156-727.77 Dumps | 156-727.77 PDF Dumps | 156-727.77 Exam Questions 3/3


https://www.geekcert.com/156-727-77.html
https://www.geekcert.com/156-727-77.html
https://www.geekcert.com/156-727-77.html
http://www.tcpdf.org
https://www.geekcert.com/156-727-77.html
https://www.geekcert.com/156-727-77.html
https://www.geekcert.com/156-727-77.html

